FTHREE EBEREBREV—H(T)

[ FRSOFEEHEEE] £ R
NEDESH EREENFE D B%-EfEEx
EREBEL |KEDEE U—hEE 60-14
HLEEL ETFKkE B K& B KEREE 2| MEEEE GRRR) F9E
LI.EXER>
B S < = = HREAEREETE
BT RA—T 5> OBERK Bk 2 |#HELAEET. BELLOBDESVWELZERLEY DEET
VRIS £ DB 1T
ik 6 |BFLEEREDOHR i
2 | BERBEE BBF 43 &£E BT(FE)EE — R
S [EmEaE —
fe | GET. &I R BMES) i
| 4 |BEEETE BAET/KEE Y
5 | BEREDRE KEEIZEDE, RETRIUVIKEKERTNICRELTREVRITAZENKEZEEDEH THS=H,
<I.EEHRE>
EEDEIEER O] &% |0 &% |m| s (RREEkS ) ojmsnnms
6 | (GEAEHELTLVDD
) Ojeme-m8  |O/RMeg-NPo |0 zot]
BEONR
7 ("%&) fAZRRELTVS|TREIXLHELIZEESE
Dh
FROHH KEERDRIE. AEGLPORILE Z K EREAHIOERZCLY . RETELLLKESEIEARE
8 [(ED L KRIZLIZLY - N RORLE St/ - - Aia
dDhH) °
=
£
il
=
BERE JKEGLPORETEZEHL. KBERED SELEH#IFT 5,
(RESa—)L. =HH ‘BERKERIFTODEIKE DHEKDBEKEEEITVD., HHKREBADKEEZREFT S,
Sk -FE mERY1I-L
7E)
mEgERE | OEcEE |mER Owse 0/gse 0] zoml
10| EEEBUS D E A% | T2 Hh ot iEERE)
<IO. FLAE>
i} | BfI | H28EERE H29EERE HIOFEERE RIEEFE
EXE () M 37,260 147,196 43,898 46,902
+ [MAKEE=A—RELE FM 0 111,199 0
% KEREE FM 17,042 14,164 15,926 18,930
%
§ BlKERGHIKER FM 20,218 21,833 27,972 28,490
Bl qq|® *A
E S
= E-#FxHs FH
3
k| |Bt|REEEIBEERM. FHEME) FH
e +n
ENEJOYA¢ )| m
— R BAR ¥A 37,260 147,196 43,898 46,902
12| A#E (b) FA 77,400 82,000 73,800 72,900
13[#83 X Mc)=(a)+(b) M 114,660 229,196 117,698 119,802




